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Q.P. Code given on the right hand side of the question paper should be written
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Please check that this question paper contains 30 questions.
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Please write down the serial number of the question in the
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10.15 S5 fopam ST@T | 10.15 ST & 10.30 &S b BT hddl JI-9 ol Uell 3T 39
31aTY % G o IT-YEIehT T I3 I a1 faE |
15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on the
answer-book during this period.
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T (4397 ;
HETITRET 145911 %1 aga FIae1 & Tigq 31K 37T & & 91T By :

(i) 39 97-97 4 30 I97 & | @t 3o SfAard & |
(i) I8 Jo7-97 Qi< GUS] § [A9f5q 8- @ue &, &, M, 90a & /
(iii) WUZ & H F97 &I 1 T 12 7% Tglascdid (MCQ) FHR & Th-Uh 3% & o7 & |
(iv) WUE W H ¥o7 G&7 13 T 18 % &Tg-3I709 (SA) IHR & F1-g1 37H & J97 8 |
Y% Y97 71 I 50 Ieg] G 37t 787 5171 =FizT |
(v) WS T Y ¥o7 &I 19 T 23 T%F 149-3RT (LA) TBR & TR-TR 3% & F97 5 |
Y% J97 &7 37 100 3551 G 371 787 51471 =iz |
(vi) @IS T H T97 GEIT 24 G 26 T TR, Higd T HHIAT-STIIRT J97 & |
(vii) TUE & F o7 G&IT 27 @ 30 7% F9-37717 (LA) IR & Bg-Og APl & J97 8 |
Tei% J97 B IR 170 F151 & 3718 T8 &7 T /|
(viii) F¥7-97 4 HI3 TGIT [ahcq 781 & | FeT F& o7 4 aR® aheq BT JIFerT 1337
T E | 37 I 4 & FaT Uk &1 JIT HT I [o7ET W |
(ix) 3GF IlE, Y% GUS Uq Y41 & Gre, &l a9qd &, 145 17 70 & |
WQUg &
o7 GG 1 & 12 7% Tglaahedia (MCQ) JFR & Uh-Ueh 3% & J97 5 | 12x1=12
1. TrafaRad w1 SrespAgERr =Efed Hifu .
(i)  ©Teh I TATG
(i) U = hT T
(iil) ST hl T
(iv) = ¥ $ 1 e
LEACES ﬂﬁE :
(a) (1), (1), (iv), (iii)
(b) (i), (iv), (1), (i)
(c) (i1), (iv), (1), (ii1)
(d) (@), (iv), (iii), (1)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12
1. Arrange the following in chronological order :

59/3/3

(1) Establishment of SAARC
(ii)  Establishment of European Union
(iii) Establishment of ASEAN
(iv)  Privatisation of agriculture in China
Choose the correct option :
(a) (1), (1), (iv), (ii1)
(b)  (ii), Gv), (1), (1)
(c) (i), (iv), (i), (iii)
(d) @G, (v), (iid), (1)
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frafafea 0 @ w9 goifds ol SO & Gge g & femn T8 o,
RTEehT qcd STAYRIY AR 5 1975 H TR o1 ?

(a) YA SO

(b) R ST 9ET (M)
()  WNAE qrh g

(d) wTSEE O

1989 = =g, fmfcifiad W & HH-E us ToHifeh de ufed g8 ?
(a)  &Bff TsHifa =1 3=

(b)  TESIH I TEHRI o T hT TN

(c)  <HIIE 9T &1 IYcd A @I

(d) Sl aeHifa b S Rgges T

HH-H T TsAl B HIUF G ATITADIA & oG 1977 T A FAE S+ H Tha
T ?

(a) T U AR THY HeHR

(b) TG 3R HHleh

(c) 3ISHET 3TN 378H

(d) Hlch R AHATS

fafoiaa 1 9 - famsard s s i Aifa 1 § e St 8 2
()  aFl et e F |

(i) gFI H TSl T R 3TEA R |

(iii) QM | Teae Ju™ W 7 |

(iv) Ml ol 97 ATEfed i =i Wb 3 |

gt foepeq T
(a) whad (i) 3 (iv) (b)  had (i) 3 (iii)
(¢)  had (i) 3 (iv) (d) whad (i) 3 (iid)
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2. Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?

(a)  Bharatiya Jana Sangh

(b) Communist Party of India (IM)
(c) Bharatiya Lok Dal

(d)  Socialist Party

3. After 1989, which one of the following political development happened ?
(a)  End of regional politics
(b)  Era of coalition governments started
(c) Dominance of Congress Party continued

(d) Communal politics lost ground

4, In which pair of states did the Congress Party manage to win the General
Election of 1977 after Emergency ?

(a) Uttar Pradesh and Jammu and Kashmir
(b)  Gujarat and Karnataka
(¢) Orissa and Assam

(d) Karnataka and Tamil Nadu

5. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?

(1) Both are non-constitutional bodies.

(i1))  Both have significant roles of states.

(iii) Both have the Prime Minister as chairperson.

(iv)  Both have the power to allocate funds.

Choose the correct options :

(a)  (ii) and (iv) only (b) (i) and (iii) only

(c) (i) and (iv) only (d) (1) and (iii) only
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faafafigs & 9@ - e e 3 IRy 9 yrdE 99 1 wftd g4 & foay
opam o 2

(a) wra (b) BTG

¢ HE d) e

39 oW Fl UgEH T, T T Toad 8 3R I W 8 oI |
gATR |

(a) 4 (b)  STHE

(c) TMR (d) e

[ e N e

feIgd H @ hH-H1 Ueh I fs/o@ &1 329 Fg7 & ?

(a) U4 T TSl o site FHH 371 oy foafa e
(b) ECH TSAl h! ATaies Afa=l § geaaq T e

(c) T AUk =EETa AR fvae fovg shi Tomer e
(d)  wmfd 9 GLEa ol q@rEr ¢

T.sie. Thell 3 ffdIiad 5 & fohd TST # U Tgiad o Aqca foRam o ?
(a) Tafew

(b) @RI
¢ T
(d) FNTAvE

TG 37 Soad Ffeafgd 0 9 ford T &9 0 T8 9837 R @ & 2

(a) TN I HTH
(b) SHEE =
(c) Toew Aifa

(d)  3TdehaTe sl IalY
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Which one of the following Princely States initially opposed joining the

Indian Union ?
(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior

Identify the country which is landlocked and has a constitutional

monarchy.
(a)  Nepal (b)  Afghanistan
(c) Myanmar (d) Bhutan

Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states

(c) To establish a more equitable and fair world

(d) To promote peace and security

A.Z. Phizo led a movement in which one of the following States ?
(a)  Sikkim

(b)  Manipur

(c) Mizoram

(d) Nagaland

In which one of the following fields are India and Israel cooperating with
each other ?

(a)  Elimination of poverty
(b)  Population control

(c) Foreign policy

(d)  Counter terrorism
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A= a1 e fou g & — foH wh ol sfirhed (A) 991 gE Sl HRU (R) R
JAferd foram T B8 | T HYH I w9F ¥ Ufgu IR = feu mu foemew
(a), (b), (c) 3 () ¥ & I & &4 H Tl fashed FHT |

37T (A) :  WNA J TR R e g e o fow SR faa,
dAfpa T oft g 9 W d.A. & Affvaaeeia e =
fomre fopam ot ... 8. W s=ae® 1 9 3R R T |

PRI (R) : Y iRl fooiy ®9 9 IO wie W AR sl off 3R
TLHTY] TTh-HUH GTe ARAT o ThITUHR i A9 ST off |

(a)  AMHRIT (A) 3T HRUT (R) ST F&1 3 3 HRU (R), AR (A) <hl
g ST HLdT 2 |

(b)  AfTHA (A) 3R HRU (R) THAT Hal §, g HRU (R), AMTHAT (A) i
& AT 7T Sl § |

(c) AU (A) Hal B, g HRUT (R) T4 & |
(d) AR (A) TAd 7, T RV (R) Hal 3 |

= &1 e fou T B — R w ol aIfirReE (A) 991 gE S HRU (R) R
JAfrd foram TRT 28 | 31 AT &l &9H 9 uleu IR i fer mu foemreut
(a), (b), (c) 3 () ¥ & I & &4 ¥ Tl fashed FHT |

S7UFYT (A) :  <feqor uisrn & 31§ fafawar o1 dies g, Tt oft efeqor wism
o fafie esnt & wer SEh Teifaes et 2

R (R) : %y UL IR HHISAT o Fas[e, aHl gl TREmE <un
ST Alehad shl STTRIETST H TEHT 8 |

(a) AR (A) 3T SR (R) SHT T&1 3 3 HRU (R), Afehe (A) <hl
g ST LAl 2 |

(b)  SAfTHA (A) 3 HRU (R) THAT Tl §, g HRU (R), AMTHAT (A) i
g AR gt il g |

(c)  IAMHAA (A) &l B, T HR (R) Td & |
d) REE (A) TeId ], Weg HROT (R) & R |
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11. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : India pleaded with the superpowers for comprehensive
nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the

five nuclear weapon powers.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

12. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then
the various countries in South Asia have the same kind of
political system.

Reason (R):  Despite many problems and limitations, all South Asian
countries share the aspiration for democracy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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Qs @

Td H A fUse o o UoHifdes 3IcUM o fehedl @ HRoN &1 fageiyo
@ﬁ'—q| 2x1=2

WA i forger ifd < T U o €9 § [e-fruean i Aifd o1 o e | 2

aqd Hifed 99 o fohral 9 TORISAT o AW fofau | 4><é=2

1969 H %@ Il o 3= faeged & &g @ %Ru I9FR i | 2x1=2

eI ST g0 Uiduifed UehieH "iHedre o fohal @l fagr=al sl 39K

T | 2x1=2

Hifq s & 5= Q@ g+t w1 3g@ I | 2x1=2
Qug T

FRETT hl qRUNER 3TN AR RN o o9 AR T hIT | 2x2=4

2014 % TAEI h GG WA TEHIG H AT fhgl IR dga@i & guib

HIT | 4x1=4
s ¥ STl 3Teiad o fehegl g SN sl ISR shifaT | 2x2=4
2f&uT TR o DI < 3 WA o IRETHeh Fra=el ol fagaiyor hIfSu | 4

Toreft 231 <h1 STTeaEdT W ATAThIuT o fohegl & IHTEl ohl ISR <hifoT | 2x2=4
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SECTION B

Analyse any two reasons for the political rise of Other Backward Classes
in India. 2x1=2

Evaluate the policy of Non-alignment as a component of India’s foreign

policy. 2

Name any four Republics of erstwhile USSR. 4dx—=2

Highlight any two reasons for the formal split in the Congress Party
in 1969. 2x1=2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

State any two main functions of the NITI Aayog. 2x1=2

SECTION C

Differentiate between the traditional and non-traditional notions of

security. 2x2=4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Analyse the mutual relations between the smaller countries of South
Asia and India. 4

Highlight any two effects of globalisation on the economy of a country. 2x2=4
Page 11 of 23 P.T.O.
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Qs ¥

24, = fqu 7T ST 1 AEYER FAERA HIT R T T T o IR G | 4x1=4

(i) W fgu 7T e 1 Gy R T W 7 ?

(a) TR (b) IOdE T=
(c) @ (d) fsrer

i) Tozm mn wrda ffefea ® & fopaeh SR A 8 2
(a) TS ATTHT

(b) SIYR GUAI A H AHBAT
(¢) &l o foTu ueh Afque saF | S19%had
(d) IO & H ITEHAd]

(iii)  hred ¥ Te@mn o faari 1 99 1 gl 8 ?
(a) TS & HeHg o

(b) TS hl Tehd

(c) TS <hl THeadT

(d) T3 <hl I
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SECTION D

24. Study the cartoon given below carefully and answer the questions that
follow. 4x1=4

(1) The above cartoon is related to which organistation ?
(a) ASEAN (b)  European Union
(¢c) SAARC (d)  BRICS

(i1))  The above cartoon is about which one of the following ?
(a) Global warming
(b)  Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment

(iii)) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Success of the organisation

(d) Composition of the organisation

59/3/3 Page 13 of 23 P.T.O.
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(iv) ohigd W Geferd |iTeA shi ST foh oy g3 oft ?
(a) 1967 (b) 1985
() 1992 (d) 2006

Fie:  HEfciad g97 F97 giEanEa ghemdal & g Je7 G 24 F & W

g 4x1=4

() AR ST o dgd fpd Ea hl T <l 18 oft 2

(a) U g
(b)  JU AT HEANT HTSH
(c) Z@‘ﬂ'& gHI

d U e agem

(i)  TTfeeee |fY i TR 1 foba g g 3 fog fopam o 2
(a) e, AT (b) fore, wE

(¢c) 74T, e d) s, s

(i) =H A Ao AdET ¥ gUR @W o fou fohm o ® ‘got g <t Hifa

JAUATE ?
(a) 1975 (b) 1977
(¢) 1978 (@ 1979

(iv) IF-H 9 2N 1 GHE SATHAH & TEATIH TG o ?
(a)  SSHTEN, Toifsrn, fhfadia, R sk omseds
(b)  SeMf3mEn, gofyrn, fefedta, erdds it g8
() SHfmEN, fefordia, fmyy, amsls ofv g%
(d) senfsmEr, wafien, fefodia, forarm ot arddls
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(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b)  Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(i1)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b) Britain, France

(c) Denmark, Sweden (d) Poland, Finland

(iii) China adopted the ‘open door’ policy to improve its economy in

which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d) 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei

(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
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ffafgd ofadm &1 eamgEs e HiVe R fiu T s & W
e 4x1=4

YR % 90 JIH Tt 7 TSR ToieT 9 HH H Hgwayel gftrent furg | a7 fagw
= ft o 3 384w i faew Hifg 1 w1 3t fspamreae W g0 yvma
el | 3eh! faew Hifd & 1 98 329 9 — HiST T | 9TH AU St 9=
W1, & T@uedr sl 99T AT, 3 a9 AR § 1o foeh@ e | 98
3 Al I T[e-FuEar S Aifa o g HE Aed o | 3 Tt oo Ao
$S TsHITah ca IR g 8 o 9 et 91 o1 o6 WA 1 smdehl ©F
Y SATET ASIcieh] SQHI TMET Fifeh 36 WH <hl Jfdsal dlehdd o TGHEC! o
w9 H off |

() v fagw Hifa w1 gea fmfa f=falea & @ o9 o 2
(a) 1.3, TSR (b)  HgTeHT TIeft
() ATATA I8% (d) TER 9ed

(i) F=fIiead o & S-a1 wra i fogw Hfifa &1 e 7 2
(a) 39 Tl shl T&1 T
(b) TR T T
(c) A9 | GATSAT l Al Al

(d)  HETRIRE ST

(iii)  Te-Fusrar &1 31 7 |
(a)  qeEdl (b)  3TEEa&d
()  gUadTETg @) ot =ifh e @ & e

(iv) ToRehT AT o1 T WRA ol STHUGRI o <dcd dTdl ©H o H19 A(UH
fmad g1 =feg ?
(a) | SHEH (b) = I

¢ .3, g d) 3w ad
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Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the

national agenda. He was foreign minister also and exercised profound

influence in the formulation and implementation of India’s foreign

policy. The three major objectives of his foreign policy were to preserve

the hard-earned sovereignty, protect territorial integrity and promote

rapid economic development. He wished to achieve these objectives

through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

1)

(i1)

(iii)

(iv)

Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

Which one of the following is an objective of India’s foreign
policy ?

(a) To pursue its national interest

(b) To preserve democracy

(¢c) To strengthen its Armed forces

(d) To become a superpower

Non-alignment means
(a) toremain neutral (b) non-interference

(¢) toremain isolated (d) not joining any power bloc

Who believed that India should be more friendly with the bloc led
by the US ?

(a) Bharatiya Jana Sangh (b) Swatantra Party
(c) B.R. Ambedkar (d) All of the above

Page 17 of 23 P.T.O.



@ collegebatch con

26. WA % U T TSHITIh W@I-AHRA (58 19 W) § IR T 1 @), B), ©
aAqT (D) o g IAfhd fohal T & | = & T8 SR o STTUR X 3§ TSAT h
UgIM HINT 3R 0 IT-GEdept B geh T& 19, TAN I TS AR i
HU-TEA 9T gHfa | foar wn gefaq ser, i & 8 diferet % w9 W

fafau - 4x1=4

TN hl T8 THEGRI | T |

. . TS 1 919
I HH-gE G 38R

(1)

(i1)

(iii)

(iv)

() 98 TS T8 wadadr & 999 9@’ kel 4T o |

(i)  rEqfaa foee @ emaR W fAfta T |

(Gii) 98 TS fSent 1947 ° fawifora feram mam o |

(iv) 1952 # Tfdd 98l TS |
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In the given political outline map of India (on page 21), four States have
been marked as @, , © and @ Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used in the map State

@)

(i1)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(ii)  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.

Page 20 of 23



For question no. 26

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ — " —

59/3/3

Page 21 of 23

P.T.O.



@ collegebatch con

Ela?é%

Fig:  [AElrad Jv7 FacT gIEETET GhedEt & [0 JeT G&r 26 % T W

27.

28.

29.

30.
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(1)
(i1)
(iii)

(iv)

(%)

(@)

4x1=4

‘FE TT T AT ek -8 g TSI F47C 7T o 2

94 H Hg™ el S dTel TS 1 FAHM TH &= 8 2

IAUEUE e TSI 8 e T S =T =T 2 2

3G TST 1 9 Toiiay S8 759 Y29 § 1e L S9->1 T 2 |

Qs ¢

Teh USCHY LA qNug o ¢ el o fofu wearfad fohegl ar draeusi
1 qhequr i | 4x1 é -6
Srerat

FGAd gU HeH H WY USgEY ohl Al WEhek s % faw 2005 |
e ¢ W Y@l gl gee U fRdl W) wheHl o1 farwerwor

i | 4><Zé=6

fYehTeT qd HifoRd VRIS i 9! 3R @ali i 3R IG@ i I

fohegl < ShTTehl A1 GUM ShHITVTT | 3x2=6
HAAT

s Me<d I Hifadd T9 § IR A o [0 AL i dal his

19 shIuT T ST | 3x2=6

“Ora #1952 1 W g fova § Arhad % 3fagE ® T HiA @

TeeR o7 |” SF o 9 H HIS dIF doh ST | 3x2=6
HAAAT

Tt v’ @ = Ifm 7 2 1970 ® 3feu it 9 38 wwig w6 W F=

IR feam 2 i < ot w1 farwaiyor hifse | 2+4=6

dfgaes TSHIfG I Tohral IR WE@QUl qiauoid fedreti &l 3SR

W | 4><Zé=6’
HAAAT

dvefiertor 3 fopegl wme anfiies aftom B 3eTR Fif | 4x1 =6
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(1)

(i1)

(iii)

(iv)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Which two States were created by dividing ‘Bombay’ State ?
What is the present name of former ‘Madras’ State ?
Uttarakhand was carved out of which State ?

Name the State which was carved out of Madhya Pradesh.

SECTION E
Examine any four criteria proposed for new members of the
UN Security Council. 4x1 é =6
OR

Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the
1

changing context. 4x1 3 =6

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3Ix2=6
OR

Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3x2=6

“The general elections of 1952 in India were a landmark in the

history of democracy in the world.” Support the statement with

any three arguments. 3Ix2=6
OR

What is meant by ‘Privy Purse’ ? Why did Indira Gandhi insist on

abolishing it in 1970 ? Analyse any two reasons. 2+4=6

Highlight any four environmental concerns that have become

important in global politics. 4x1 é =6
OR

Highlight any four economic consequences of globalisation. 4x1 é =6
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